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Hepatitis Cholera Jaundice Typhoid one of the following diseases causes liver inflammation
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Crude oil is heated in furnace upto
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Reaction can e bz s &
no longer be Speedsof | The amount | The reaction
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reactions and products proceed
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Na,SiO; CaO NaCl CaClg) | & -
\ \< 2 Whlczh one of the shlts is used to dry a gas?
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Condensation Resonanoq N \ 'j-i_\éht;e'hétxio'\r;": " Isomerism | The ability of carbon atoms to form chain is called
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Silk Nylon Wool Cotton Which one of the following is a synthetic fibre?
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Propane Ethene Glyoxal Oxalic acid | Oxidation of ethene with KMnOy4 produces
Glycol Glycol
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Glucose Sucrose Cellulose Starch Photosynthesis precess produccs
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NO, SO, CO, SO;.
Normally rain water is weakly acidic due to the gas
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0; NOy SO, CO, Global warming causes rising of sea -c'_gfr i u,v(
level, The cause of global warming is
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Quick lime Lime water Na@}é.ohte/" o Sqda\b@e \ _‘_Rérmanent hardness is removed by adding
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